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(1) IfAisS x5 matrix with real entries, then A has
(a) an eigen value which is purcly imaginary.
(b) at lcast one real  Ligen value.
(c) atlast two eigen value which are not real.
(d) at least four distinet real cigen value,
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(2 what is the rank of the matrix "

1 2 3
A= |4 5 6]
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as A={a 5 6| ¥ aif wwra?
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@)  ‘The equation x9-5x5+4x*+2x2+1=0 has.

At least ----m-smeeeses imaginary roots.
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() Letf(x)= vl then f (f(x)) is
af f(x)=3= @ @ £(f(x)) &
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) Theorder of Aut (G) ,Where G is a group with 17 elements is
Aut (G) & & W&l G 17 srwgdl @1 y$ g 8, &
(@) 16 by 17
(c) 2 (dy 1

6) The order of the smallest non - abelinan group ,is
Heidi W12 arT-Jrafdad wig o1 wife &
(a) 2 (b 3
(c) 5 d) 6

(1) IfZpisa field then p will be
(a) prime ‘ (b) compound
{c) even (d) None oftﬁese
wEg B¢ Zp, TP &3 & o p aT-
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what is the value of i*?
U B 1 2o -
{a) e"/? (b) e” (©) e (d) /2

In an orthonormal set of rectors, the norm of each vector is
wfeet & f&d) warny aifee wyeag J gde afkw a1 ani &
(a) 3 (by 4
{¢) 1 (dy 2

Let W ={ (0,0,c}|c€IR} be a subspace of IR3.what is the dimension of v/w?
et W ={ (0,0,c)|c€IR})IR? ) va suwmifie &t v/w ) fam au 272
(a) 4 by 3 (c) 2 (d) !

What is the median of 44,60,63,51,48,33,61?
44,60,63,51,48,33,61 o) Arftaem @ &7
(a} 44 (b) 51 (c) 48 (d) 33

What is the probabitity to come 3 on throughing a dice?
TH TR B BFA G 3 I B WiAwmar qr g 22
(a) 1 {by 2 {c) 0 ) /2

(13) Mean of (- distribution is
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Thevalueof (—21) IS
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(@) = (b) m/2 (c) Vm (d) ym /2

(15) What is the area ofaloop of the curver=asin30

9B r=asin3 0 UF WY P &3 Ry we 2 7
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integrating factor of the equation Mdx +Ndy =0
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(a) e f f{x)dx

(© o ()

(by log f(x)

(@) [ fx) dx

isa function of x alone, say f(x) then what is an
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The center of the sphere
x24y2+zt -2x+4y-62=2 is

W xeyleg? 2x+dy-6u=2 B OEEE -

{a) (-1.2.3)

(c) (1,-2,3)

(b} (-1.2.-3)

@ (1.2,3)

General equation of hyperboloid of one sheet is
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It F :2xy?+yz'j\+x2ﬁ, then what is div T ?
afe ?=2xy?+yz?+x212 g ot div F aar g/ ?

(a) 2xy+yz+x?
(b) xyt+y
(¢) 2ytz
(d) yzx
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What is the Value of  lim (1+x)V*?
X

1irr(1] (1 +x)V* eram a8 ?
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(a) = by ¢ (c) 1 () 0
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Cartesian equation the calenory s=ctan @ is
$ead  s=ctan @ & @iy whew &7

{a) y=ccos (-ﬁf) (b)yx-clany
(c)y=ccos h [?x) (d) y=c sin hx

what is the time period of a particle moving in simple Harmonic motion ?
e aad TR | T B’ gQ 1 BT A el i fm g ?

(@) 7/Vu (h) 2nVE
(©) 7 VK @) %
Il the path of a particle is cardioid r=a 1+ cosf ) then the law of force is

ofr FaRl FU @1 uy ifsangs r=a ( 1+cas d) & o 4@ @1 A g &

a) Fo = (MF < —
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